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Note: Attempt all Sections. lf you rccluirc any missing rlata, theu choosc suitably.

SECTION A

I, Attempt *ll qtrestiont in briel. 2"10 = 20

?. Atfempt any three of the

3. Attempt Lny 0w part of

B

ONC

,l

l0*3 =30

l0*I = l0

Qrro QLrestions CO

{a) Define "pcr capito demand"? I
(b) Defi ne "[)esign l]eriod"? I
(c) lrxplain the function of distribution reservoir'. 2

(d) What is 'Itcscn'oir yield'7 2
(e) What EPA has set frrr suspencled solids? J

(0 I)efine'dissolved material'? J

(s) Dilferer:tiate betrveen Unit Operarion & Unit Process? 4
(h) What is the difference hehveen "Disinfbction" & "sterilization" 4
(i) I-xplai n Aerobic rlecorrrposi ti on'.' 5-
(t I)efi ne wastswater treatment? ',r,, . lo

5

Qno
:i 

Questiuns cro
(a) Erp]11in thc suitabiliry ot'anv foul populatirirr lhrc.cnsring nii:iirocl-*': I
(b) l:xplain rvith neat sketch any one tvpe cll surl'ace reseryoir? 2
(c) txplain in tlctail about organics irr u'astcu'atcr'.' :)

dt ) 4

(e) I3riefly explain the rvorking ol''{'rickling lriltrrr'J 5

Qno Qucstions CO
(a) 'l'he population of a city obtained from the census report is as givcrr

below:
Year 1950 I q70

1 
q80 r 9q0 ?000

Ilopulation 80000 120000 168000 2?8000 250000

incre ase me thod, ge omctric incrcasc mcthod and by lncrerncntal
lncrease mcthod.

(lalculate thc pcpulation of tiit: fcrr thc ycar 2030 by Arithmctic,al

I

i,lr!li :,11.:ii,t. r,,i:l,j:r'11:-r-:trli ..",jlrl;r i":::ll 1,,: :ri; i:],.-rii!-1,.1 t

I

A rectangular srttling tank is [o trtsat 1.8 mi]lion litres per rlay ol'rar.r,
w&ter. 'l'hc scdimentation pcr:iod is to bc 4 hours. thc vc.locitl, of'florv I
cu/minutc, and thc dcpth ot- thc rvatcr and scdirne.nt -1.2 rn. lf an
allowance of t.2 m fbr scchntcrrt is nradc, u,hat should be l,ength and
Widtlr of thc brsin.
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4. Attempt any {}ne part of the fnllowing:

5. Attempt any orre part of the following:

6. Attempt any rne pnrt of

7. Attenrpt an_y rlrre Jrart of the

(b)

!Yeishach William

theHstimate IC ln 2hydraul fll dia.graclient Snrooth crtrtcre te ptpe
Jof cLliltecscarrvrns at 100cdischarye temperature (a)by Ilarcv-

fonrrula l{azen-(b) S formula.
Assume all suitable dsfa

I

Qno Qucstions c(l
(a) withlllustrate lhesketches difl-erent of oftypes layouts lnprrpe syslems

l.l,'atef?
2

(b) Ditlbrentiate betrveen and condui ts?gravity" pressure Pressure conduils
are used forcommonly water distantfiomconvsymg t()sources the

tbrtown

2

Qno CO
(a) BOI) value of 759,'o of tlnal.A sample of wastervater has a 4-

Find the reaction constant
-1

*-

(1, ) a rvastclvater sample, 5
of the ultimatc. Whar will
"For at 2001S 1Sand 6 /',)lvrngilt

rl)tsc) -)at oocl

Qno CO
(a)

Also deterir:ine the arnount ol-
litre of u,ater treatecl.

ts required.

IJetermine the quantity of alun: recluirecl in order tcr
litres ol r.vater per day al a treatnrent plant, rvhere

rel*ased
u,hich r.vill be

ol'alum dosr
3 millir:n .la

(b)
4

C$
(, Discuss Activated rl,ith suitable 5
(b) bricl'.ennicompeisting"Uxplain 1n Also a11 oi'cxplain vantsgcti

V
5

'i.iln"1,::"1*rl'r:'i. r...ri.rl ; 1f-tj*..jtLlLt.,l .i.,.:,lj-.rX.li i f +?.f-r::,..11ri,:_I

I

10*I = I0


